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Kommagetal vermenigvuldigen met 10, 100 of 1.000

[1]

Oefening 1 Oefening 2

1. 9,96 x 100 = 1. 3850 x 10 =
2. 935 x 100 = 2. 599 x 1.000 =
3. 547 x 100 = 3. 894 x 1.000 =
4. 791 x 100 = 4. 883 x 10 =
5 455 x 10 = 5 124 x 100 =
6. 9,76 x 100 = 6. 6,89 x 100 =
7. 3,72 x 10 = 7. 7,56 x 1.000 =
8. 6,13 x 100 = 8. 8,98 x 1.000 =
9. 6,45 x 100 = 9. 6,50 x 1.000 =
10. 1,88 x 100 = 10. 9,69 x 100 =
Oefening 3 Oefening 4

1. 3,16 x 1.000

1. 439 x 100 =

2. 7,20 x 1.000

2. 517 x 100 =

3. 1,94 x 10 = 3. 563 x 10 =
4. 1,25 x 100 = 4. 467 x 100 =
5 1,56 x 100 = 5 322 x 100 =
6. 8,14 x 100 = 6. 2,62 x 1.000 =
7. 6,27 x 1.000 = 7. 815 x 10 =
8. 956 x 100 = 8. 1,78 x 1.000 =
9. 7,56 x 1.000 = 9. 6,28 x 100 =

10. 9,24 x 100 = 10. 5,22 x 1.000
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Antwoorden: Kommagetal vermenigvuldigen met 10,
100 of 1.000 [1]

Oefening 1 Oefening 2

1. 996 x 100 = 996 1. 3,50 «x 10 = 35
2. 935 x 100 = 935 2. 599 x 1.000 = 5.990
3. 547 x 100 = 547 3. 894 x 1.000 = 8.940
4. 7,91 x 100 = 791 4. 8,83 «x 10 = 88,3
5. 455  «x 10 = 45,5 5. 1,24 x 100 = 124
6. 9,76 x 100 = 976 6. 6,89 «x 100 = 689
7. 3,72  «x 10 = 37,2 7. 756 x 1.000 = 7.560
8. 6,13 x 100 = 613 8. 898 x 1.000 = 8.980
9. 6,45 x 100 = 645 9. 6,50 x 1.000 = 6.500
10. 1,88 x 100 = 188 10. 9,69 «x 100 = 969
Oefening 3 Oefening 4

1. 3,16 x 1.000 = 3.160 1. 439 «x 100 = 439
2. 720 x 1.000 = 7.200 2. 517 «x 100 = 517
3. 1,94 «x 10 = 19,4 3. 563 «x 10 = 56,3
4. 1,25  «x 100 = 125 4. 4,67 x 100 = 467
5. 1,56 «x 100 = 156 5. 3,22 «x 100 = 322
6. 8,14 «x 100 = 814 6. 2,62 x 1.000 = 2.620
7. 6,27 x 1.000 = 6.270 7. 8,15 «x 10 = 81,5
8. 9,56 «x 100 = 956 8. 1,78 x 1.000 = 1.780
9. 756 x 1.000 = 7.560 9. 6,28 «x 100 = 628
10. 9,24 «x 100 = 924 10. 522 x 1.000 = 5.220
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